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 Statistics for: Run 2 | Tip Speed Ratio

 min: 0.5897 at 254.7 max: 1.581 at 250.0

 mean: 0.6948 median: 0.6992

 std. dev: 0.03345 samples: 9296

 Δy: 0.992

 Statistics for: Run 2 | Coefficient of performance

 min: -0.04236 at 265.0 max: 1.101 at 250.0

 mean: 0.3160 median: 0.3194

 std. dev: 0.05539 samples: 9296

 Δy: 1.143

What I take from this graph is that around 
the 250 rpm samples Cp of 0.25-0.31 
frequently occurred alongside TSR’s of 0.7.   
At higher revolutions the TSR increased, 
indicating higher capacity to carry load, 
and so a higher Cp could have been 
attained with a better load match.  
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